Wind <= 255

gini

samples = 4928
2375, 2553

class = Under

4, 2530)
Under

temp <= 215
gini = 0.493

samples = 1339
value = (593, 746
class = Under class = Under

Suriace_astroplay < 2vg_away_total yards_against < 5vg_home_total_yards_against
gini = 0.455 gini ain
samples = 97 samples = 3468
value = 34, 63] value = [1747, 1721]
class = Under class = Over

[Fomveromyards agamst <
ini = 0.5 0391

0.48

[5v0._home_total_yards_against < [fotal_qb_elo <= 29.79] _elo 1733 V9 home._total_yards <
gini = 0.437 i gini = 0.4 ini = 0.499

74,544 V9 home_total_yards <
qini

samples = 93 ples = 3453 samples = 30 samples = 7 samples = 638 samples = 664
value = (30, 63] value = [1745, 1708] [ value = (22, 8] value = [2, 5] value = [303, 335] value = 266, 398
class = Under class = Over class = Under Over class = Under class = Under lass = Under

i = 0.5
samples = 3413
(1714, 1699]
55 = Over

0.255
0

[5vg_home_total_yards_against SVg_away_total_yards_agaimst [5vg_home_total_yards <
i ini = 0.5 ini = 0.495

samples = 526

3Vg_home_total_yards <
ini = 0.495

STEER
gini = 0.371
amples = 6

40
9]

samples.

samples = 21
value = (17, 3]
class = Over

samples = 3
2, 1]

gini = 0.481
samples = 112
value = (67, 45
class = Over

samples = 67
value = [37, 30)
class = Over

samples

value = (31,
class = Over

value = 2,
Class = Over

E 5 samples =10
value = (16, 49] value = (5, 5]
class = Under

value = (236, 290]
class = Under

value = (229, 368
class = Under

Over

cla:

Gn= 0.3

gini = 0.469
samples = 8
5, 3]

gini = 0,40
samples = 5:

‘gini = 0.499
samples = 2148
value = [1117, 1031]]

class = Over class = Under

3 ‘gini = 0.461
16 samples = 492

value = [236, 280]] value =

class = Under

value

samples = 49
value = (9, 40|
cl r

177, 315]
class = Under

class = Over




